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Grade 3 Subtraction Worksheet './I/;ﬁtﬂ'_.l‘-
SUBTRACT A 3-DIGIT NUMBER FROM ANY
WHOLE THOUSAND
Find the difference.

1.2,000 - 986 = 16. 2,000 - 824 =

2.3,000 - 273 = 17. 3,000 -190 =

3.6,000 - 584 = 18. 5,000 - 345 =

4. 5000 - 81= 19. 6,000 - 752 =

5.4,000 - 324 = 20. 4,000 - 98 =

©.2,000 - 759 = 21. 2,000 - 435 =

7.3,000 - 458 = 22. 3,000 - 674 =

8.5,000 - 692 = 23. 5,000 -129 =

9.6,000 - 105 = 24. 6,000 - 443 =
10.4,000 - 874 = 25. 4,000 - 387 =

11. 2,000 - 541 = 26. 2,000 - 690 =

12.3,000 - 678 = 27. 3,000 - 204 =
13.5,000 - 329 = 28. 5,000 - 710 =
14.0,000 - 203 = 29. 6,000 - 852 =

15.4,000 - 702 = 30. 4,000 -129 =
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Grade 3 Subtraction Worksheet './I/;ﬁtﬂ'_.l‘-
SUBTRACT A 3-DIGIT NUMBER FROM ANY
WHOLE THOUSAND
Find the difference.
1. 2,000 - 781 = 16. 2,000 - 802 =
2.3,000 - 610 = 17. 3,000 -501=
3.5,000 - 429 = 18. 5,000 - 675 =
4.0,000 -198 = 19. 6,000 -134 =
5.4,000 - 311 = 20. 4,000 - 378 =
0.2,000 - 920 = 21. 2,000 - 623 =
7.3,000 - 448 = 22. 3,000 - 240 =
8.5,000 - 627 = 23. 5,000 - 489 =
9.6,000 - 329 = 24. 6,000 - 720 =
10. 4,000 - 719 = 25. 4,000 - 542 =
11.2,000 - 540 = 26. 2,000 - 371 =
12. 3,000 - 159 = 27. 3,000 - 875 =
13.5,000 - 764 = 28. 5,000 -105 =
14. 6,000 - 190 = 29. 6,000 - 852 =
15. 4,000 - 210 = 30. 4,000 - 284 =
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Grade 3 Subtraction Worksheet './I/;ﬁtﬂ'_.l‘-
SUBTRACT A 3-DIGIT NUMBER FROM ANY
WHOLE THOUSAND
Find the difference.
1.2,000 - 568 = 16. 2,000 - 429 =
2.3,000 - 632 = 17. 3,000 - 628 =
3.5,000 - 498 = 18. 5,000 - 298 =
4.0,000 -158 = 19. 6,000 -179 =
5.4,000 - 729 = 20. 4,000 - 342 =
0.2,000 - 691 = 21. 2,000 - 735 =
7.3,000 - 510 = 22. 3,000 - 104 =
8.5,000 - 623 = 23. 5,000 - 591 =
9.6,000 - 321 = 24. 6,000 - 248 =
10.4,000 - 140 = 25. 4,000 - 739 =
11.2,000 - 870 = 26. 2,000 - 620 =
12.3,000 - 350 = 27. 3,000 -472 =
13.5,000 - 760 = 28. 5,000 - 395 =
14.6,000 - 410 = 29. 6,000 - 540 =

15.4,000 - 530 = 30. 4,000 - 100 =
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Grade 3 Subtraction Worksheet './I/;ﬁtﬂ'_.l‘-
SUBTRACT A 3-DIGIT NUMBER FROM ANY
WHOLE THOUSAND
Find the difference.
1.2,000 - 401 = 16. 2,000 - 780 =
2.3,000 -190 = 17. 3,000 - 315 =
3.5,000 - 740 = 18. 5,000 - 457 =
4.0,000 - 383 = 19. 6,000 - 689 =
5.4,000 - 537 = 20. 4,000 - 270 =
0.2,000 - 835 = 21. 2,000 - 618 =
7.3,000 - 269 = 22. 3,000 -147 =
8.5,000 - 450 = 23. 5,000 - 398 =
9.6,000 - 190 = 24. 6,000 - 520 =
10.4,000 - 316 = 25. 4,000 - 610 =
11. 2,000 - 110 = 26. 2,000 - 489 =
12.3,000 - 749 = 27. 3,000 - 865 =
13.5,000 - 680 = 28. 5,000 - 749 =
14.6,000 - 574 = 29. 6,000 - 330 =

15.4,000 - 193 = 30. 4,000 -475 =




